A& ol &b A & Al A
20188 = =0l &t 2B A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 540,003,907 499,500,602 40,503,305
100 X1 Al=¢ 540,003,907 499,500,602 40,503,305
110 XAl 540,003,907 499,500,602 40,503,305
111 ESAl 529,466,722 490,383,285 39,083,437
111-03 =2l Al 27,243,867 25,871,072 1,372,795
[ 23 ] 27,243,867 25,871,072 1,372,795
<dER NRED > 2,288,351 2,006,004 282,347
oos= 981,237
Oel 846,155
=X 10,000& * 69,164MICH = 85% 587,894
-AEE 50,000& * 5,554 A * 93% 258,261
ogel 135,082
-tEs 100 =, S 1002 =
500,000& * 4JH&H Q! = 93% 1,860
-X=3 5021~1002 Olat, S & 1002 Olot
350,000& * 1JHEH Q! = 93% 325
-XH=3 50 =1, Y 1002 0l Gt
200,000 * 2100H& el = 93% 39,060
-X=32 30¥~502 Olol, &SZ & 100¢! Ol ot
100,000& * 30JHE& € = 93% 2,790
-JIEtg el 50,000& = 1,958JHE& €1 = 93% 91,047
O = 2503 = 931,240m 232,810
SEEE 17,905,083,000& * 0.005 = 12& 1,074,304
< MER AR > 3,544,060 3,375,021 169,039
ozms=& 1,148,060
Oel 993,029
=4 10,0008 = 82,614MICH » 88% 727,003
-AHE E 50,000& = 5,721 & * 93% 266,026
ogel 165,031
-XAH==2 100 =0, SH&J 10020 =t
500,000& * 10JHE& €l = 93% 4,650
-A==2 504 =, Y& 1002 Olot
200,000 » 248JHE& 1 = 93% 46,128
-A==2 30¢~50210l0t, SR 100! Ol ot
100,000 * 38JHE& €1 = 93% 3,534
-JIEtE el 50,000& * 2,166JH& €1 = 93% 100,719
OM &2 2503 = 1,584,000m 396,000




B: 100 X A%
2110 XAl
3 111 2EA (ctel: & 8)
¥.p-8.-=2 O &k 0 0l & o HRE2
ozge= 33,333,333,334% * 0.005 * 12 2,000,000
<EHI M > 16,468,804 16,288,007 180,797
ozss 1,547,714
OMel 1,250,859
~ZEAT 10,0002 « 101,835KICH * 85% 865,597
- R 50,0008 * 9,0650H 4 * 85% 385,262
ogel 296,855
-XHE 2 100 E D, SV 10000 X Bt
500,0008! * 38H QI * 93% 17,670
-T2 2 100 E D, SV 1002 X B
500,0008 * 3240l * 93% 14,880
-XH2 2 502{~10024 015, S22 10091 0] 5t
350,0008 * 350001 * 93% 11,392
-XH2 3 5090 =3, ZV 1002 0l
200,0008 * 35074 & Q! * 93% 65,100
-T2 Z 3024~5021015t, ZAR 100910 5t
100,0002 + 10040l * 93% 9,300
-JIEtE 0l 50,0002 * 3,8390HI 0l * 93% 178,513
OTH &2 2509 * 6,576,300 1,644,075
ozgasE 221,283,585,0008 * 0.005 * 128 13,277,015
<HID MPD > 4,942,652 4,202,040 740,612
onsE 1,253,899
OF4X 10,0008 * 80,760KICH * 85% 686,460
oA 50,0009 * 7,250 * 93% 337,125
ogol 230,314
-XH2 2 1002 =D, YA 1009 =t
500,00080 * 200401 * 93% 9,300
-T2 2 502 ~ 10024 0I5, LA 1009 05t
350,00080 * 15040l * 93% 4,882
-Xt2 3 5090 =3, @ 1002 0l
200,0008! * 26074 Q! * 93% 48,360
X223 309 ~ 509 Olat, Ze@ 10090 0I5t
100,00080 * 700HE4 0l * 93% 6,510
-JIErE ol 50,0009 * 3,468HE1 2l * 93% 161,262
Ot 2509 * 3,727,012 931,753
oz 45,950,000,0002 * 0.005 * 12 2,757,000
111-04 TH & Al 107,778,334 102,460,219 5,318,115




100 X2 A+=¢

X
3’3 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
[ el A ] 107,778,334 102,460,219 5,318,115
<d4gs AR > 17,580, 190 16,708,000 872,190
o8& 1,546,709,727,273% = 4.4/1,000 6,805,522
Od=F== 715,553,420,000& * 4.4/1,000 3,148,435
OEXNZ 1,733,234,800,000& * 4.4/1,000 7,626,233
< MER AR > 24,070,437 22,430,219 1,640,218
FEE 2,615,727,955,000& = 4.4/1,000 11,509,203
Od=F=E 938, 188,636,420 * 4.4/1,000 4,128,030
OEXNZ 1,916,637,273,000& * 4.4/1,000 8,433,204
<SEHF AR > 40,141,287 38,939,000 1,202,287
o8z 3,150,967, 125,455% = 4.4/1,000 13,864,255
Od=F=EE 2,153,851,363,863% = 4.4/1,000 9,476,946
OEXZ 3,818,201,363,863% * 4.4/1,000 16,800,086
<HEER AR > 25,986,420 24,383,000 1,603,420
o8z 2,012,884,091,000& = 4.4/1,000 8,856,690
OA=F=EE 1,219,741,136,000& * 4.4/1,000 5,366,860
OEXNZ 2,637,611,591,000& = 4.4/1,000 11,605,491
ogaJle 35,767,955,000& = 4.4/1,000 157,379
111-05 s XtHAl 136,095,517 124,645,990 11,449,527
[ 2etsl A ] 136,095,517 124,645,990 11,449,527
< MEL > 72,334,000 63,789, 192 8,544,808
o=2dE 19,320,000, 000 19,320,000
oO2+gMEXS 53,014,000, 000 53,014,000
<adgx MR > 12,494,932 12,274,000 220,932
osEXsi 12,011,897
OBl 21& 1000cc Ol ot 52,0008 = 5,858CH * 85/100 258,923
OBl 21E 1600cc Ol ot 2,628,028
-XoHE 135,000 = 22,897CH * 85/100 2,627,430
-FYE 26,000& = 2304 598
OBl 21E 1600cc =1t 9,124,946
-XoHE 320,000 * 33,383CH = 85/100 9,080,176
-2YE 37,000& = 1,210CH 44,770
oOsg st 177,970
OUHE MBI A& 15,960




09 i 0

OXTH= g 10000kg Ol ot

,273

& -2 0l &t o 0 ot o
-ggE 70,0003 = 22804 15,960
O2EHNHA 6,300
-ggE 50,0003 = 12604 6,300
Ol E-HIETES 9,220
-ggE 42,0003 * 110CH 4,620
-XItE 115,000& = 40CH 4,600
OALSLBHA 146,490
-g2gE 25,0003 3304 825
-XItE 65,0003 * 2,2410H 145,665
Ost= X=Xt 285,283
O THEZ 1000ke
226,005
-XItE 28,500&  9,762CH * 80/100 222,573
-E3YE 6,600 * 520CH 3,432
O THEEZ 2000k
9,531
AP 34,5002 = 321CH = 80/100 8,859
-E3YE 9,600 = 70CH 672
O THEZ 3000k
12,523
APIE=1 48,0009 = 298CH * 80/100 11,443
-E3YE 13,500 = 80CH 1,080
OXTHEEZ 4000k
8,805
PIE=1 63,000& * 149CH = 80/100 7,509
-E2YE 18,000& « 72CH 1,296
O THE 2 5000k
19,108
-XotE 79,500  258CH = 80/100 16,408
-G E 22,5003 =120CH 2,700
O =2 8000ke
3,038
-XotE 130,500 * 26CH = 80/100 2,714
-G E 36,000& = 904 324




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
-XoHE 157,500& * 23CH = 80/100 2,898
-ggE 45,0002 = 75CH 3,375
OEx=Xs 12,172
OoxrE 94,1008 = 47CH 4,422
oggE 25,0003 = 310CH 7,750
OAH&II N 3,562
OoxrE 91,0003 = 22CH 2,002
oggE 65,0003 * 2404 1,560
O©O0IE Xt 16,0003 = 253CH 4,048
< MER AR > 156,560, 100 16,022,762 537,338
Os8Xs 156,103,560
OB I1E 1,000cc Ot 52,000& * 6,624CH * 85/100 292,780
OB I1E 1,600cc Ol ot 2,129,301
-XoHE 135,000& = 18,527CH  85/100 2,125,973
-g3gE 26,0003 = 128CH 3,328
OHBHI1E 1,600cc =t 12,681,479
-XoHE 320,000& * 46,417CH = 85/100 12,625,424
-ggE 37,0002 = 1,5150H4 56,055
Osg st 172,972
Olg Lt A 16,547
-EgE 42,0002 = 10104 4,242
-XoHE 115,000& * 107CH 12,305
Oadg ditg A 133,015
-EgE 25,0003 = 530H 1,325
-XoHE 65,0003 = 2,026CH 131,690
OUE XM A 14,560
-EgE 70,000& = 208CH 14,560
OAxgHMH A 8,850
-8 8 50,000& = 17704 8,850
Ost= A= 267,335
OATHHE 1,000kg Ol dt 182,746
-XoHE 28,500&  7,900CH * 80/100 180, 120
-EgE 6,600 = 3980H 2,626
OATHHE 2,000kg Ol 6t 7,560




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
-XoHE 34,500& = 251CH = 80/100 6,927
-ggE 9,600& = 66CH 633
OATHHE 3,000kg Ol at 11,479
-XoHE 48,000& = 268CH = 80/100 10,291
-EgE 13,500& 8804 1,188
OXATHHE 4,000kg Ol ot 7,930
-XoHE 63,000& * 122CH = 80/100 6,148
-EgE 18,0003 * 99CH 1,782
OATHHE 5,000kg Ol ot 12,843
-XoHE 79,500& = 151CH = 80/100 9,603
-g3gE 22,5003 = 14404 3,240
OXTHHE 8,000kg Ol ot 7,552
-XoHE 130,500& * 52CH = 80/100 5,428
-EgE 36,000& = 5904 2,124
OATHEE 10,000kg Ol ot 1,881
-XoHE 157,500& = 6CH = 80/100 756
-8 s 45,000& = 2504 1,125
OATHEE 10,000kg = 14 19,827
-XoHE 157,500 * 92CH = 80/100 11,592
-ggE 45,0002 = 18304 8,235
OS=Xsxt 16,517
-XoHE 94,1002 = 10304 9,692
-EgE 25,0003 = 233CH 5,825
(OFal=~WIW;| 12,233
(OP\P/ 5= 91,000& 3804 3,458
oggE 65,0002 = 13504 8,775
©O0IE Xt 4,000
OO0l & Xt 16,0003 = 250CH 4,000
<EEHF AR > 19,770,644 19,168,810 601,834
Os8Xsi 19,238,060
Ol I1'E 1000ccOl ot 332,696
-XoHE 52,000& * 7,500CH * 85/100 331,500
-EgE 26,0003 = 460H 1,196
Ol I1'E 1600ccOl ot 4,591,664




09 i 0

EIYES
X A
EEY
E.2-8-2 0l &k o8 B ol by
APz 135,000& * 40,000CH = 85/100 4,590,000
-ggE 26,0003 = 6404 1,664
OHUiJ1g 1600cc= Dt 14,313,700
APIE=] 320,000& * 52,360CH = 85/100 14,241,920
-ggE 37,000& = 1,940CH 71,780
(OFE=='ONE=DN; 173,876
OIEFNIVES 4,130
-g2gE 70,000& = 5904 4,130
OFS-F VMBS 4,050
-ggE 50,000& = 810K 4,050
Olg et A 15,616
-ggE 42,0003 * 213CH 8,946
-XItE 115,000 5804 6,670
OAd Lot A 150,080
-G E 25,000& ~ 5704 1,425
APIE=] 65,000& = 2,287CH 148,655
Ost=2 k=t 308,831
OFTHEZ 1000k 217,054
APz 28,500& = 9,350CH * 80/100 213,180
-gg= 6,600& = 58704 3,874
OXMH g 2000k 15,064
APIE=] 34,5003  526CH » 80/100 14,517
-ga= 9,600& 5704 547
OX A& 3000k 14,101
APIE=] 48,000& = 337CH = 80/100 12,940
-g4aE 13,5003 8604 1,161
OFTHA 2 4000k 8,409
APIE=] 63,000& * 134CH = 80/100 6,753
-g2gE 18,0008 = 9204 1,656
O W= 2 5000k 26,413
APIE=] 79,500& * 335CH * 80/100 21,306
-ggE 22,5003 = 227CH 5,107
OX & & 8000ke 18,925
APIE=] 130,500 * 163CH * 80/100 17,017




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
-ggE 36,000& = 5304 1,908
OATHH & 10000kg 0l ot 8,865
-XoHE 157,500& = 1500 = 80/100 1,890
-8gE 45,0008 =+ 155CH 6,975
OEx=Xs 8,162
OoxrE 94,1002 » 5304 4,987
oggE 25,0008 = 12704 3,175
OA& I 36,595
OoxrE 91,0008 4504 4,095
oggE 65,0002 = 500CH 32,500
O©O0IE Xt 16,0003 = 320CH 5,120
<HER AR > 15,935,841 14,391,226 1,544,615
OsEXs 16,339,573
OB I1E 1,000cc Ol Gt 361,379
-XoHE 52,000& « 8,176CH * 85/100 361,379
OB I1E 1,600cc Ot 2,318,184
-XoHE 135,000& = 20,200CH = 85/100 2,317,950
-ggE 26,0003 = 904 234
OB I1E 1,600cc =t 12,660,010
-XoHE 320,000& = 46,200CH = 85/100 12,566,400
-EgE 37,0003 = 2,530CH 93,610
Osg st 257,830
OUHEHMH A 4,340
-EgE 70,000& = 6204 4,340
OAxgdMH A 3,550
-EgE 50,000& = 7104 3,550
ollgge A 64,965
-8 8 420,000 = 14404 60,480
-XoHE 115,000& 3904 4,485
Ooagagy A 184,975
-E3gE 25,0003 = 4104 1,025
-XoHE 65,000& = 2,830CH 183,950
Ost= s 318,037
OATHHEE 1,000kg Ol Gt 252,828




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
-XoHE 28,500 * 10,950CH = 80/100 249,660
-ggE 6,600& = 480CH 3,168
OATHE 2,000kg 0l ot 8,809
-XoHE 34,500% » 298CH = 80/100 8,224
-EgE 9,600 = 61CH 585
OATHHE 3,000kg Ol at 14,359
-XoHE 48,000& = 343CH = 80/100 13,171
-EgE 13,5003 = 88LH 1,188
OXTHHE 4,000kg Ol ot 7,376
-XoHE 63,000& = 111CH = 80/100 5,594
-g3gE 18,000& = 99CH 1,782
OXTHHE 5,000kg Ol ot 18,501
-XoHE 79,500& = 22904 = 80/100 14,564
-EgE 22,500& = 17504 3,937
OXTHHE 8,000kg Ol t 8,280
-XoHE 130,500& * 60CH = 80/100 6,264
-8 s 36,0003 = 56CH 2,016
OATHEE 10,000kg Ol ot 7,884
-XoHE 157,500 * 9CH = 80/100 1,134
-ggE 45,000 = 150CH 6,750
OEx=Xs 9,366
OoxrE 94,1008 » 6504 6,116
oggE 25,000& = 130CH 3,250
(OFal=~WIW;| 9,035
(OP\P/ 5= 91,0003 = 25CH 2,275
oggE 65,0002 = 10404 6,760
©O0IE Xt 2,000
OO0l & Xt 16,0003 = 1250H 2,000
111-07 St A HIAl 59,000,001 60,810,005 A 1,810,004
[ 2etsl A ] 59,000,001 60,810,005 A1,810,004
< HMEDL > 59,000,001 60,810,005 A1,810,004
O =i A1l Al 1,007 = 5,326,352 » 11& 59,000,001
111-09 RS Al 199,349,003 176,595,999 22,753,004
[ 2etsl A ] 199,349,003 176,595,999 22,753,004




100 X2 A+=¢

Xt
I’Z 110 XAl
g 111 BEA CLE-ED
E.2-8-2 0l &k o8 B ol by Bl =2t
<dER MR > 18,821,000 18,421,000 400,000
(OES=E- 18,821,000
Oeras 51,350,000,000& * 10/100 5,135,000
[@)=:Rel s 6,836,000
-HAIEE 293 Ol ot 34,180,000,000& =* 1/100 341,800
“DHEE 29/ ET 20092 03
121,339,000,000& = 2/100 2,426,780
NI EE 2009 @ =1t 184,882,730,000& = 2.2/100 4,067,420
Osgd =+ 68,500,000,000& * 10/100 6,850,000
< HER N2 > 26,394,000 28,957,999 A 2,563,999
(OES=E- 26,394,000
OHeras 76,290,000,000& * 10/100 7,629,000
[@)=:RelE 11,465,000
“AESE 293 016t 131,524,300,000& * 1/100 1,315,243
SN EE 293 = 2004 @ Ol Gt
221,963,850,000& * 2/100 4,439,277
NI EE 20092 =1t 259,567,273,000& * 2.2/100 5,710,480
OsSgd =+ 73,000,000,000& * 10/100 7,300,000
<SR N2 > 117,958,000 96, 138,000 21,820,000
(OEN=E- 117,958,000
OM A= 100, 110,000,000& = 10/100 10,011,000
ogeoas 84,811,000
N EE 293 0l 624,017,400,000& * 1/100 6,240,174
“DHEE22E XD 20092 013
330, 165,000,000& * 2/100 6,603,300
N EE 2009 @ =1t 3,271,251,182,000& = 2.2/100 71,967,526
Osgd =+ 231,360,000,000& * 10/100 23,136,000
<CEER N2 > 36,176,003 33,079,000 3,097,003
(OEN=E- 36,176,003
O A= 61,214,109,570& * 10/100 6,121,410
ogeoas 19,064,433
N EE 293 0l 88,248,710,000& * 1/100 882,487
“HHEE 2909 ET 200248 015

446,306,200,000& = 2/100 8,926,124

4
=
]
A
N
1o
{0
Poh

ni 420,719,181,910& * 2.2/100 9,255,822




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OEgd =+ 109,901,601,290& + 10/100 10,990, 160
[ARIPAR=4S R=gag=l 10,537, 185 9,117,317 1,419,868
113-01 At =g 10,537, 185 9,117,317 1,419,868
[ 2etsl A ] 10,537, 185 9,117,317 1,419,868
<dg MR > 2,380,605 2,287,317 93,288
ond =g 2,380,605
02016 O] & == 3,522,663,140% = 40/100 1,409,065
02015 0l& 018+ 4,857,702,860% = 20/100 971,540
< HER NS > 2,953,000 2,317,000 636,000
oundE =g 2,953,000
020174 0| & == 4,928,000,660% = 45/100 2,217,600
020164 0ld Dl & =+ 3,677,000,5009& = 20/100 735,400
<EHEF NRED > 2,512,000 1,544,000 968,000
oundE =g 2,512,000
020174 0| & == 4,084,125,320@ = 33/100 1,347,761
02016 0ol& 018+ 14,552,991,580& * 8/100 1,164,239
CEER NRIL > 2,691,580 2,969,000 N277,420
OudEE =¢ 2,691,580
02016¢ O] & == 3,587,422,331& = 45/100 1,614,340
02015 0ol& 018+ 5,386,201,570% = 20/100 1,077,240




